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Answers and commentaries 
 

 
 
Question 1 
With reference to these sources and your understanding of the historical context, assess the 
value of these three sources to an historian studying the media in the 1920s. 

[30 marks] 
  

Mark scheme  
L5: Shows a very good understanding of all three sources in relation to both content and  

provenance and combines this with a strong awareness of the historical context to 
present a balanced argument on their value for the particular purpose given in the 
question. The answer will convey a substantiated judgement. The response 
demonstrates a very good understanding of context.           25–30 

 
L4: Shows a good understanding of all three sources in relation to both content and  

provenance and combines this with an awareness of the historical context to provide a 
balanced argument on their value for the particular purpose given in the question. 
Judgements may, however, be partial or limited in substantiation. The response 
demonstrates a good understanding of context.           19–24 

 
L3: Shows some understanding of all three sources in relation to both content and  

provenance together with some awareness of the historical context. There may, 
however, be some imbalance in the degree of breadth and depth of comment offered 
on all three sources and the analysis may not be fully convincing. The answer will make 
some attempt to consider the value of the sources for the particular purpose given in 
the question. The response demonstrates an understanding of context.        13–18 

 
L2: The answer will be partial. It may, for example, provide some comment on the value of  

the sources for the particular purpose given in the question but only address one or 
two of the sources, or focus exclusively on content (or provenance), or it may consider 
all three sources but fail to address the value of the sources for the particular purpose 
given in the question. The response demonstrates some understanding of context. 

7–12 
 
  

Please note that these responses have been reproduced exactly as they were written by 
the student. 
 
This resource is to be used alongside the A-level History Component 2M Wars and Welfare: 
Britain in Transition, 1906–1957 June 2022 Question paper and inserts.   
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L1: The answer will offer some comment on the value of at least one source in relation to  
the purpose given in the question but the response will be limited and may be partially 
inaccurate. Comments are likely to be unsupported, vague or generalist. The response 
demonstrates limited understanding of context.                 1–6 
 
Nothing worthy of credit.           0 
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Student responses 
 
Response A 
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This is a Level 3 response 

The answer shows some understanding of all three sources and makes some attempt to 
consider their value, however the quality of response is variable. For example, the 
evaluation of provenance for C is reasonable, but is rather basic for B, and there is some 
misunderstanding of the authorship of A. The response lacks consistent depth of support 
and judgement is a little superficial. Overall, the commentaries lack the depth and breadth 
of the higher levels.  
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Response B 
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This is a Level 5 response 

The answer is very good in all respects, shows a strong awareness of the historical context 
and offers thoughtful, balanced evaluation throughout. The provenance of the sources, in 
particular, is thoroughly explored and the quality of evaluation is consistently well 
developed. The candidate’s own knowledge is generally precise and appropriately applied 
for the purpose of assessing value, leading to convincing, clearly expressed judgement on 
all three sources. 
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Question 3 
‘Both industry and agriculture suffered greatly in the 1930’s.’ 
 
Assess the validity of this view  

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.            21–25  

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16–20  
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.         11–15  

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.            6–10 

  
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment. 1–5  

 
Nothing worthy of credit. 0 
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Student responses 
 
Response A 
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This is a Level 3 response 

The answer shows an understanding of some of the key developments in both agriculture 
and industry during the period. A balanced assessment is provided but this is uneven, 
particularly in relation to the problems that persisted in Britain’s industrial economy. The 
key limitation of the answer is its lack of depth of detail of the support offered and the 
relatively limited scope of the response which limit the ability to reach a clearly 
substantiated judgement. 
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Question 2 
How far were the Conservatives responsible for the liberal victory in the 1906 election?  

[25 marks] 
 

Mark scheme  
L5: Answers will display a very good understanding of the full demands of the question.  

They will be well-organised and effectively delivered. The supporting information will 
be well-selected, specific and precise. It will show a very good understanding of key 
features, issues and concepts. The answer will be fully analytical with a balanced 
argument and well-substantiated judgement.                   21–25  

 
L4: Answers will display a good understanding of the demands of the question. It will be  

well-organised and effectively communicated. There will be a range of clear and 
specific supporting information showing a good understanding of key features and 
issues, together with some conceptual awareness. The answer will be analytical in style 
with a range of direct comment relating to the question. The answer will be well-
balanced with some judgement, which may, however, be only partially substantiated.  

16–20  
 
L3: Answers will show an understanding of the question and will supply a range of largely  

accurate information, which will show an awareness of some of the key issues and 
features, but may, however, be unspecific or lack precision of detail. The answer will be 
effectively organised and show adequate communication skills. There will be a good 
deal of comment in relation to the question and the answer will display some balance, 
but a number of statements may be inadequately supported and generalist.         11–15  

 
L2: The answer is descriptive or partial, showing some awareness of the question but a  

failure to grasp its full demands. There will be some attempt to convey material in an 
organised way, although communication skills may be limited. There will be some 
appropriate information showing understanding of some key features and/or issues, 
but the answer may be very limited in scope and/or contain inaccuracy and irrelevance. 
There will be some, but limited, comment in relation to the question and statements 
will, for the most part, be unsupported and generalist.             6–10  

 
L1: The question has not been properly understood and the response shows limited  

organisational and communication skills. The information conveyed is irrelevant or 
extremely limited. There may be some unsupported, vague or generalist comment. 1–5  
 
Nothing worthy of credit.            0   
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Student responses 
  
Response A 
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This is a Level 5 response 

The answer is well organised and effectively delivered; it sustains a clear direction of 
argument throughout. In addition, a key strength is the degree to which a strong range of 
detailed, supporting knowledge is deployed. Conceptual understanding is demonstrated 
by the ability of the candidate to identify the links between different factors, and how 
these impact on each other. Balance is evident throughout, with the strengths and 
weaknesses of the Liberals and Conservatives clearly highlighted. 
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